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BASIC SURVEYING
i : 3 9] [tftreRaH 31 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
2. () FAEFAATIEAG fegdtE
Note : There are three sections A, B and C in the paper.
(ii) QFITCHIvT &l & T 10 W%ame?ﬂicf/mmwamw?qa
T 10 977 FGRE PR & T F & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) BFIT @ F 8 ¥ 4 & f5al 6 5ol B IR T | §AF T 3 Wa;rz?qa'
FTHTS SATEH/50 Feel 7 3w g /

 Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

(iv) = Q77 Gt % 6 Fo1 4 8 587 4 7] & IR I | FAF 797 8 Ww?qsr
F7T 15 i7E/150 951 5 IR Ao |

Answer. any 4 questions out of the 6 questions in section C. Each questzon
carries 8 marks and to be answered within 15 lines/150 words.

(v) FE% QT F TH G B TR T 1 ET HHord |

Solve all the questions of a section consecutively together.
(vi) @ 9TTsT B 37 817 ) IRl B 3 S1gar 8 A E

Only English version is valid in case of difference in both the languages.

JRE - T
SECTION - A
1. @) aﬁmmg@am%waﬁ

(a) EoUl R SRR R FHET (b)) IR B Tl KT

(c) W ATRIH BT (d) T TR T
The main principle of surveying is to work from
(a) whole to the part (b) part to the whole

(c) only part (d) only whole

(1ofd) “ P.T.O.
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(i)

(1ii)

(iv)

I W o STTER, Th 20 Hiet silia i Tk H) Y =TS 21 1T |
(a) 100Gt (b) 40 () 30¥;H (4 209
As per Indian Standard, the length of one link in a 20 metre chain should be

(a) 100 cm (b) 40cm = (¢) 30cm (d 20cm
S o1 i | wTef 7S T H 3 S SR Ieq Jfe el 8

(a) wFTERAR (b) RO e

(c) THSRIFR (d) kR

The error in measured length due to sag of chain or tape is known as :
(a) .positive error - (b) negative error

(c) compensating error (d) instrumental error

It forelt T & wgutn fEHAm is N5© 45' W ot SHeh! guey awul o fespam
s - -

(@) 95°45' (b) 174°15' (c) 185°45 (d) 354°15'

If the quadrantal bearing of a place is N5° 45' W, the corresponding whole circle
bearing would be :

(a) 95°45 (b) 174°15 (c) 185°45 (d) 354°1%
(v) ST Forelt wore o1 ImIRR EHE o e aitafda giaT 2 e se I H wEa |
(a) & (b) F=HE () Tuef @ PBr
When the meridian of a place changes with time, then this meridian will be :
(a) arbitrary (b) magnetic (c) true (d) grid
(vi) 3R R, Tt sweare w51 3reuauis gar @ '
(ay 1° - (b) 30 () 15 ~ (@ 207
Usually, the least count of prismatic compass is
(a 1° (b) 30 () 15 (d) 20"
(vii) Toret forg =1 wmwita e, formr Tyl o o & 3w fareg <) wiars B @
() YA ER -~ (b) UHAA HAE
(c) WIEd WY Uaig . (d) <SHYUdE
Reduced level of a point is its elevation with reference to :
(a) ground surface ' (b) levelled surface
(c) mean sea level (d) datum surface
(viii) Tt Frg 2 whar &
(a) wE (b) A (c) IE (4 S ah

(ix)

Bench mark may be .
(a) permanent (b) arbitrary (c) temporary (d) All of the above

- o S 1 Q) i YT e O R Sl R TR R, e e s 3

(@) =A (b) T= (c) T EA (d) =&
Two contours of different elevation do not cross each other except in case of a :
(a) cliff - (b) ridge '

(¢) overhanging cliff (d) wvalley
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(x) A < Yo Toreg i 3TTeg FwHha € :

(a) ITHId % H=T (b)  3TPId 5 ST
(c) @HI(a)d (b) (d) I o 9 IS
The pole point of planimeter may be kept :
(a) inside of the figure (b) outside of the figure
(c) both (a) and (b). (d) None of the above (10x1)
Y — o
SECTION - B

2. m—maﬁmaﬁmﬁtl

Explain Cadastral surveying. : ' &)}

3. fam wgl A o e hifv -
(a) T ARG TF I AREH
(b) v IR e =AfaTa T
Differentiate between following terms :
(a) Direct ranging and Indirect ranging. _
(b) Random error and Personal error. i 1.5x%x2)

4, = qa E7) GHIATST :
(@) A
(b) ¥HAS ddzg
Explain the following terms :
(a) Datum
(b) Level surface ’ (15%x2) -

5. Y@r-amEs w e g g ?

What is principle of line ranger ? , 3)

6. FO WA W YEhi GS T Aq & S | ?

Why does the magnetic needle dip at some places ? | (3)

7. U feemum iR grerehry fegpmm & ot v Al |

Differentiate between True bearing and magnetic bearing. ~ A3

8. maﬁm@ma@fmﬁwmaﬁﬁm

Differentiate between differential levelling and fly levelling. A3
9, G e % IS o SuEnT faRa | |
Write down any three uses of contour maps. A3

P.T.O.



CC/CE3002 = (4 of4) : 1143

10.

-11.

12.

13.

4.

15.

qE -t
. SECTION-C
aﬁmﬁﬁmaﬁwmwmﬁwmﬁwaﬁﬁm

Describe with sketches Engineer’s scale and diagonal scale in detail. ®

e ARk TR

- Write down the methods of plotting traverse in brief. 3

@ﬁamABCDﬁﬁw%@ﬁ%ﬁﬁmﬁfmmw

The followmg bearings of survey lines of a closed traverse ABCD were observed.

W | amfem
Line Fore Bearing
AB N 50°E
BC - SS80°E
CD | S35°W
& DA N 45°W
F: S0 % HH T HIG |
Find the included angles. | : ®)

A1 % FTEATS WS Hl THIATIT |

Explain the temporary adjustrhent oflevel. 8)
efice I MRS dew A gE v |

Compare Dumpy level with Automatic level. _ | ®)
Tk g gRT it T urgas forg e

0.325, 0.530, 0.620, 1.780, 1.915, 2.350, 1.750, 0.355, 0.69o, 1.240 31T 0.980 .
R e fareg w1 wia @t 81.535 HY. R At 3 frgail & warfa aet sa HIRTT |

v o Fuf v, e 3 T e 35 e et i 1 i ferfer it ot e |

‘The following readings were successively taken with an instrument in levelling work :

0.325, 0.530, 0.620, 1.780, 1.915, 2.350, 1.750, 0.355, 0.690, 1.240 and 0.980 m.

. If the R.L. of first point is 81.535 m, then find out the R.L. of other points. The positions

of level were changed after 3™, 7 and 9" readings. Also apply the arithmetic check. (8)




